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Cluster: 0093 ptr; resid: 0.28; r/c: 24/69

x.range

upstream meme PSSM #1; e=1.1e+03

1 3 5 7 9 111 3 5 7 9

x.range

y.
ra
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upstream meme PSSM #2; e=5.6e+05

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16
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● 11189
20809

15211
41511

3291645701

6277

10779

22909

29885
37198

43334

43464

43609 44340

45243

45964

45965

46046

46363

46612 48044
50738

8363

string −500 −400 −300 −200 −100 −1
11189−0.39
43334−0.50
10779−0.59
45965−0.69
45701−0.69
44340−0.85
32916−1.09
43609−1.16
46363−1.25

8363−1.28
6277−1.50

20809−1.57
45243−1.60
50738−1.76
45964−1.90
48044−2.01
29885−2.23
41511−4.24
46612−4.34
15211−4.66
22909−4.89
46046−5.19
43464−6.12
37198−7.15

log10(P) upstream meme1 2 log10(P.clust)=−2.40; 24 seqs; 24 uniq
c(0.5, 2.5)
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